Занятие 5
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Уравнение окружности проходящей через центр 
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, где х1, у1 – координаты центра круга.
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CLS

INPUT X,Y

IF (X-3)^2 + (Y-4)^2 < 4 AND X>0 AND X<6 AND Y>0 AND Y<7THEN ? “YES” ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X>-5 AND Y<7 AND X<6 AND Y>0 AND (X+3)^2+(Y-4)^2>1 AND (X-3)^2+(Y-4)^2>4)

F2=(X>0 AND Y<=0 AND X^2+Y^2<4 AND X^2+Y^2>16)

IF F1 OR F2 THEN ? “YES”  ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X>=0  AND X^2+Y^2<36)

F2=( X<0  AND Y<4 AND X>-10 AND Y>=0 AND X^2+Y^2>9)

F3=((X+3)^2+(Y+4)^2>1 AND X<0 AND Y<=0 ANDX^2+Y^2<64))

IF F1 OR F2 OR F3 THEN ? “YES”  ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X>-5 AND Y<5 AND X<5 AND Y>0 AND X^2+(Y-2)^2>1)

F2=( Y<0 AND X^2+Y^2<49 AND X^2+Y^2>25)

IF F1 OR F2 THEN ? “YES”  ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X<=0  AND Y<6 AND X>-4 AND Y>-5 AND (X+2)^2+(Y+3.5)^2>1 AND  (X-3)^2+(Y+2)^2>1)

F2=((X-2)^2+Y^2>1 )

F3=(X>0 AND Y>=0 AND X<4 AND Y<4)
F4=(X>0 AND Y<0 AND X<6 AND Y>-4)

IF F1 OR F3 OR F4 AND F2 THEN ? “YES”  ELSE ?”NO”

Домашнее задание
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CLS
INPUT X,Y
F1=(X<=0  AND Y<3 AND X>-6 AND Y>=0) 
F2=(X>0  AND Y<5 AND X<6 AND Y>=0)
F3=(X<=0 AND Y<0 AND X>-5 AND Y>-6 AND X^2+Y^2>16)

F4=( X^2+Y^2>16 AND X^2+Y^2<25)

IF F1 OR F3 OR F4 OR F2 THEN ? “YES”  ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X<=0  AND X>-5 AND Y>-5 AND Y<=0) 

F2=(Y>=0  AND X^2+Y^2<25)

F3=( X^2+Y^2>9 AND X^2+Y^2<25 AND Y<0 AND X>0)

F4=( (X+2)^2+Y^2>1)

IF F1 OR F3 OR F2 AND F4 THEN ? “YES”  ELSE ?”NO”
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CLS

INPUT X,Y

F1=(X<=0  AND X>-6 AND Y>=0 AND Y<4 AND X^2+Y^2<4) 

F2=( X>0  AND X<8 AND Y>=0  AND Y<6 AND X^2+Y^2<4)

F3=( X^2+Y^2>16AND X^2+Y^2<36 AND Y<0 AND X>=0)

F4=( X<0  AND X>-4 AND Y<0 AND Y>-9)

IF F1 OR F3 OR F2 OR F4 THEN ? “YES”  ELSE ?”NO”
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